PerroaMing, ConvosTion.
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Simple Procedure for small examples.

O Let p, 7= =47 Shh-47.
¢ a weigk*d mpvlce at 4oz 4,

® Form VeInl= okl h[h-4T

respongeat all hmes N, due do mpllse
at Lime & .

® Now ytnl= ?ngnl

Notes:® We must do gleps (D -@ Qreueag walue
of & Lr which xCAT is non-zere

o Snce x[LT cun be quite leng, this aan
become a lot oflwork.



Alhermahie Procedure Crecmmended,)

o Previovs apgmck
~ calcvate vesponse ab all qmes n fo an
wnoeotat +me k
then Sum over Kk

o Recommended agproach,
- ecolevlobe resonse ot hnie n Inpuks
ot all ines &
re do 4his Rreack n.

+ The m recommuended agoreach. Saves $ime when
the Sunchinal Fforms Shaythe same o~
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o What we dohert 1S foc o qven Ne,
o) Fom  Wn 'hl= x [k h s 4]
for all &

b) Mew  ylnol < {’ W [A7
C) Repeat G~ next value of A



o Now we Know how do form ngﬂ
bot £ sl locks ke we have bo do this focan

nCaite nomber of n !

o We simp\fgj Yhis loy -ﬁthdn'ng ranges ef n
G which the Cunckional form of W LATJ

s the Same
Then we only have 4o lcokat one pont n each

rorde  The resuldn ; CnT
typieally P o of ylnlis

rrgﬁ\j N SNO
5&‘1 £, 01 No<n<€N,
L2 w1 Ny <n €Ny

fonet [al Nmg &n € N
Con g A7 Nm,
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ond over éach range, th Donchéne) form of
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¢ Now we only have % do“w\?gs m s



Sordner advartage of ¥ recommended methed

Yot thereis & e grapeal procedure
or foeiog W [kT

Wno[A]* xCAJ h[no-Al
cs N\MM varalde

No s & consta

So just plet fum and mo\hplg
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Now, 4lnel= zwnoﬂﬂ



The -uuins you may Liod dNélt here 18
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(Thisis Whywe Shelied s\u’gt}g and Scaling
INHhe inkedochon )

lebs defre UTATs WEAT  (reflechin)
Whob s UTk-no]  (dufbrgitbyng
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